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According to the passage, what is/are the
reason/reasons for saying that the time has
come to review the role of public sector 7

1. Mow public sector has logt its relevance
in the industrialization process.

2.  Public sector does mnot perform
patiafactorily.

3.  Entrepreneurship in private sector is
expanding.

4,  Effective’ competition policies are
available now.

Which of the statements given above isfare

correct in the given context 7

fa} 1anddonly

(b} Zonly
fe) 2,3 and4only
(dy 1,2, 3and4d

According to the passage, rural roads sheuld

be in the domain of public sector only. Why 7

(a) FRural development work ia the domain
of government only.

Private sector ¢annot have monetary
gains in this.

(b

Government takes money from tax
pavers and hence it is the responsibility
of government only.

Private sector need not have any social
responsibility.

id)

B8. The author prefers government as the wmpire

and private sector as players because

{a) Government prescribes norms for a fair
play by the private sector.

(b} Government is the ultimate in policy
formulatien,

i) Government has no control over private

sector players,

{d} Mone of the above statements is correct

in this context.

A guestion paper must have a question on ong
of the eight poeta : &, B, C, I, E, F, G or I
The firat four belong to the medieval period
while the rest are considered modern posts.
Generally, modern poets figure in  the
question paper in alternate years. Generally
those who like H like G alay and those whoe
like F like E also. The paper-seiter does mot
like to ask about F as he has written a book
on F, tut he likes F. Last year, the paper
eontained a guestion on A, On the basiz of the
information given, this year's paper iz most

G7. The portfolio composition of the government ; ; :
refers to ]J.k:e]g'.?.u contain a question on |
{a) Public sector assets quality. fay C
(b lovestment inn liquid assets. & E
fc) Mix of government investment in
different industrial sectors. €} F
(d) PBuying Return on Investment yielding
capital assets, W H
B-FWE-N-OCUB (3 -A)
ca of infomation. This is not an official one. This might be useful
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In a group of six women there are four
dancera, four vocal musiciang, one actress and
three violinists. Qirija and Vanaja are among
the violinists while Jalsja and Shailaja do not
know how to play en the viokin, Shailaja and
Tamuja are among the dancers. Jalaja,
Vangja, Shailaja and Tanuja are all vocal
musiciang and two of them are aleo violinists,
If Poojn is an aciress, who among the
following s certainly
violindat 7

{a) Jalaja

by  Pooja

{e)  Shailaja

id) Tanuja

The letters L, M, N, O, P, @, R, 3 and T in
their order are anbstituted by nine integers 1
to 9 but not in that order. 4 is assigned to P,
The difference between F and T is 5. The
difference between N and T is 3. What is the

integer assigned to N 7
{a}
(b
e
{d}

@ o T =

The number of desths ameong the army
personmel is B in 10040, but among the civilian
population it is 20 per 1000. Which one of the
following inferences can be drawn from this
statement 7

{a) Itis better to join the army.

{b}  'The relationship is fortuitous.

ie}  Quality of Life Index is very high within
the armed foroea.

The groups cannot be compared due to
their heterogenedty. ’

()

of infomation. This

a dancer and al|

63. Given the statement : “Buses are the cause of

4.

(3\-A)

is not an official

more accidents than cars, and trucks cause
fewrer accidents than boees™, which of the
following conclusions can we draw 7

(a} There are more buses on the road than
trucks.

(hy  Car drivers are more careful than bus
drivers.

() Truck drivers are more skilled thon
either cor or bus drivers.

{d) MNone of the above

“If political leadership fails to cmerge, there da
likelihood of military taking over power in
developing countrics. Radical student groups
or labour may try to raise revolution but they
are not likely to compete with the military,
Military intervention, rule, and withdrawal
from politica is closely related to & society's
level of political development.”

In the context of political development, the
assumption in the above passage is that

(a) political leadership is not an effective
instrumaent,
(b} military fills in political vacuum,
(e}  military intervention is inevitable for
development.
(d1  None of the above
one. This might be useful
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This

85. Pour persons, Alok, Bhupesh, Chander and | 67.
Diresh have a total of ¥ 100 among
themsaelves, Alok and Bhupesh between them
have a5 much meney as Chander and Dinesh
between them, but Alok has more money than
Bhupesh, and Chander hasz only half the
money that Dinesh has, Alok has in fact T 5
more than Dhnesh has. Who has the
maximum amsunt of money 7 =
{a) Alok
{b} Bhupesh
ic)  Chander
d}  TDhimesh
) in 8.
Examne the following statements :

1 George attends Music classes oo
Monday.

2. He attends Mathematics classez on
Wednesday. 7

3.  Hie Litersture classes ore not on
Friday.

4.  He attends History classes on the day |,
following the day of hia Mathematics
classes, - - an.

5. On Tuesday, he attends his Sporis

If he attends just one aubject in a dg.y and hig

Sunday is free, then he is also free on

{a) Monday

(b} Thursday

{c} Satorday

(d)  Frday

(38-A)

is not an official

In a row ‘A’ is in the 11' position frem the left
and ‘B is in the 10'2 poaition from the right. If
‘& and ‘B interchange, then ‘A’ becomes 18t
from the left. How many persons are there in
the row other than ‘A’ and B’ ?

{a] 27
b 26
e 25
dy 4

Location of B is north of A and location of C is
east of A. The distances AB and AC are 5 km
and 12 km respectively. The shortest distance
{in km) between the locations B and € is

fa) 60
b 13
L

ay 7T -

Twe cars start towards each other, from two

_placez A and B which are at a distance of

160 km. They start at the same time
08 : 10 AM, If the apeeds of the cars are 50 km
and. 30 km per hour respectively, they will
meet each other at

(=) 10:10AM
(b 10:30 AM
(e 11:10AM
{d)  11:20AM

one .
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Directions for the following 6 (six ifems)

The following six ifems are based on fo possoges
in English to test the comprehension of English
language and therefore these items do not have
Hind{ version. Read each passage and answer the
items that follow.

Passage -1

In front of us was walking a bare-headed old
man in tattered clothes. He was drving hizs beasts,
They were all laden with heavy loads of clay firom
the hills and looked tired. The man carried a long
whip which perhaps he himeelf hod made, As he
walked down the road he stopped now and then to
eat the wild berries that grew on bushes along the
uneven road. When he threw away the seeds, the
bold birds would fly to peck at them. Sometimes a
stray dog watched the procession philosophically
and then began to bark. When this happened, my
two little sons would stand still holding my hands
firmly. A dog can sometimes be dangerous indeed.

Passage - 2

Cynthia was a shy girl. She believed that she
was plain and untalented. Omne day her teacher
ordered the entire clazs to show up for audition for
the school play. Cynthia nearly died of fright when
ghe was told that she would have to stand en stage
in front of the entire class and deliver dialogues.
The mere thought of it made her feel sick. But a
remarkable transformation occurred during the
audition. A thin, shy girl, her knees quaking, her
stomach churning in terror, began to stun everyone
with her excellent performance. Her bored
classmates suddenly stopped their noisy chat to
stare at her slender figure on the atage. At the end
of her aodition, the entire room erupted in
thunderous applause. '

72. Cynthia was afraid to stand on stage because

{a) che felt her classmates may lasgh at
her.
70. The author’s children held his hands firmly
because (b} her stomach was churning,
i i
{a)  they were scared of the barking dogs. i ke backadl selfentid :
{b)  they wanted him to pluck berries,
(e} thev zaw the whip in the old man's (d}) shedid not like school plays.
hand.
{d} the road was uneven.
78. Cynthia's classmates were chatting because
T71. The expression “a stray dog watched the ]
procession philosophically” means that (a) it was their turn to act next.
{a) the dog was restlese and ferocions. o) ey of th
where e performancis,
(5) the dog stood aloof, looking at the pore 3
peoceatlon yEith AaEdsoke. () Cynthia did not act well
lel  the dog looked at the procession with
big, wondering eyes. {d)  the teacher had no control over them.
(d)  the dog stood there with his eves cosed,
B-FVS-N-OCLB (40— A}
of infomation. This is not an official one. This might be useful
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Passage -1

In front of us was walking a bare-headed old
man in tattered clothes. He was driving his beasts.
They were all laden with heavy loads of clay from
the hills and looked tired. The man carried a long
whip which perhaps he himself had made. As he
walked down the road he stopped now and then to
eat the wild berries that grew on bushes along the
uneven road. When he threw away the seeda, the
buold birds would fly to peck at them. Sometimes a
stray dog watched the procession philosophically
and then began to bark, When this happened, my
bwo Little sons would stand still holding my hands
firmly. A dog can sometimes be dangerous indeed.

70. The author's children held hie hands firmly
because

{a) they were scared of the barking dogs.
{b)  they wanted him to pluck berries.
{c) they saw the whip in the old man's
hand.
{d} the road was uneven,
T1. The expression “a stray dog watched the
procession philesophically™ means that
{a) the dog was restless and ferocions,

{b) the dog stood aloof, leoking at the
procesaion with seriousness.

{e}  the dog looked at the proceasion with
big, wondering eyes.

(d) the dog stood there with his eyes closed.

B-FVS-N-OCUEB

Passage - 2

Cynthia was a shy girl. 8he believed that she
was plain and untalented. COne day her teacher
ordered the entire class to show up for audition for
the achool play. Cynthiz nearly died of fright when
ghe was told that she would have to stand on atage
in front of the entire class and deliver dialogues.
The mere thought of it made her feel sick. But a
remarkable transformation occurred during the
audition, A thin, shy girl, ber knees quaking, her
astomach churning in terror, began to stun evervone
with her excellent performance. Her bored
clagsmates swddenly stopped their moisy chat to
ptare at her alender figure on the stage. At the end
of her auditicn, the entire room erupted in
thundercus applause.

2. Cynthia was sfraid to stand on stage becausa

(a) she felt her classmates may laugh at
her.

(&) her stomach was churning,
(e)  shelacked self-confidence,

(d) she did not like achool plays.

73, Cynthia's classmates were chatting because
(a) it was their furn to act next,
(b}  they were bored of the performances.
{e)  Cynthia did not act vell.

{dy  the teacher bad oo condrol over them,

{41 A}
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Cynthia's knees were quaking because
{a)  she felt nervous and shy. .
() the teacher acolded her.

i) she was very thin and weak.

(d} she was afraid of her classmates.

The transformation that occurred during the
audition refers to

fa) the nervousnesa of Cynthia.

{b) the eruption of the entire room in
thunderous applause,

{e) the surprise on the faces of her
clessmatea. 4

(d) the stunning performance of Cynthia.

If the 3 day of 0 month is Monday, which
one of the following will be the fifth day from
21% of this month ?

(a) Monday

(b Tueaday

{e)  Wednesday

(dy Friday

For a charity ahm- , the total ticketa sold were
420, Half of thess tickets were sold at the rate
af ¥ b each, one-third at the rate of ¥ 3 each

and the rest for T 2 each. What was the total
ameunt received T

() T a0

by ¥ 1,540
{ed T 1810
(d) T 2,000

Directions for the following 3 (three) items !
Read the passage given below and answer the iterns
that foilom, ;

A, B, C, D, E, F are members of a facmily.
They are engineer, stencgrapher, doctor,
dranghtsman, lawyer and judge (not in order). A,
the engineer is married to the lady stenoprapher.
The judge is married to the lawyer. F, the
draughtsman is the son of B and brother of E, C,
the lawyer is the daughter-in-law of D). E iz the
unmarried doctor. D) is the grandmother of F.
There are two married couples in the family.

T8. 'What is the profession of B 7
(a) Judge
(b} Lawyer
() Draughtsman
(d) Cannot be determined

79, Which of the following isfare a
eouple/conplen 7

{a)  ADonly
B}  BConly
i€} Both AD and BC
(d} Both AC and BED

80. What is the profession of I 7

{a)  Judge
{b) Stencgrapher
{c}  Doctor

{d} Cannot be determined

(42-A)

of infomation. This is not an official one. This might be useful
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Cynthiz's kness were quaking because
(a)  ahe felt nervous and shy.

(b}  the teacher scolded her,

(e}  ghe was very thin and weak.

" id)  she was afraid of her classmates,

The transformation that eccurred during the
audition refers to

{a) the nervousness of Cynthia,

(b) the eruption of the entire room in
thunderous applause.

(e} the surprise on the faces of her
classmates.

{d} the stunning performance of Cynthia.
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appropriate places in the OMR Answer Sheet. Any omissionfdiscrepancy will render the Answer

Sheet liahle for rejection.

You have to enter your Holl Mumber on the

Test Booklet in the Hox provided alongside.

DO NOT write anything elae on the Test Bookbet,

This Test Booklet contains B0 items (guestions). Each item is printed both in Hindi and English,

except for Questions relating to English Language Comprehension which are in English only, Each

item comprises four responses (answers), You will select the response which you want to mark on the

Angwer Sheet, In case, vou feel that there is more than one correct responsze, mark the response

which you copsider the best. [n any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions

in the Anewer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

vou have to fill in some particulars in the Answer Sheet as per instructions gent to vou with your

Admission Certificate.

After you have completed filling in all your responses an the Answer Sheei and the examination has

concluded, you should hand over to the Invigilater only the Answer Sheetf. You are permitied to

take away with vou the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers

THERE WILL BE PENALTY FOR WRONG ANSWERS MAREED BY THE CANDIDATE.

{ip There are four alternatpres for the angwer to every question. For each question which bas a penalty for
which n wrong answer has been given by the idute, ome-third of the marks assigoed to that question
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i} If a candidate gives more than one answer, it will be treated 0s o wrong aoswer even if ane of the given
answers happens to be carrect and there will be sume penalty as above to thet question, if it has & pennlty.

(i) If a quertion is left blank, ie.. no anewer 18 given by the candidate, there will be no penalty for that
queation.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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B-FVS-N-OCUB {(1-A)




www.recrulttmen LH'M]"H

Directions for the following § (five) itema ;

Read the fullowing two.pamagu and answer the
items that follow each passage. Your answers fo

these ttems should be based on the passuges only,

Passage ~ 1

In recent times, India has grown fast
not only eompared to its own past but also
in comparison with other fnations. But there
cannot be any room for complacency because
it is possible for the Indian economy to
develop even faster and aleo to spread the
benefits of this growth more widely than
has been dome thus far. Before going inte
details of the kinda of micro-structural
changes that we need to conceptualize and
then proceed to implement, it is worthwhile
elaborating on the idea of inclusive growth
that constitutes the defining concept behind
this Government's various economic policies
and  decisions, A interested in
inclusive growth views the same growth
differently depending on whether the gains
of the growth are heaped primarily on a
small segment or shared widely by the
population. The lstter is cause for
celebration but not the former. In other
words, growth must not be treated as an
end in iteelf but as an inatroment for
spreading prosperity te all, India’s own past
experience and the experience of other
netions suggests that growth is neceasary
for eradicating poverty but it i= not a
sufficient condition. In other words, policies
for promoting growth  need Lo be

nation

B-FvS-N-OCUB

(2-A)

complemented with policies to ensure that
more and more people Jom in the growth
process  and, further, that there are
mechanisme in place to redistribute some of
the gains to those whe are unable to partake
in the market process and, hence, get left

A gimple way of giving this idea of
inclusive growth a sharper form is o
measure & nation's progress in terms of the
progress.of its poorest segment, for instance
the bottom 20 per cent of the population.
(ne could measure the per capita mncome of
the bottom quintile of the population and
also caleulate the growth rate of income;
and evaluate our economic success in terms
of these measures that pertsin to the
poorest segment. This approach is attractive
because it does not ignore growth like some
of the older heterodox criteria did. It simply
looks at the growth of income of the poorest
sectiona of the population. It alse ensures
that those who are outside of the bottom
quintile do not get ignored, If that were
done, then those people would in all
likelihood drop down into the bottom
quintile and so would autematically become
a direct target of our policies, Hepce the
criterion being sopggestad here i A
statistical summing up of the idea of
inclusive growth, which, in turmn, Ieads to
twa corollaries : to wish thot Tndin must
strive to achieve high growth and that we
must work to ensure that the weakest
segments benefit from the growth,
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1.  The auther's central focus is on 3.
, {a) applanding India's economic growth not
only against its own past performance,
but against other nations.

{b) emphasizing the need for economic
growth which ia the sole determinant of
a country's proeperity.

(e} emphasizing inclusive growth where
gaine of growth are shared widely by
the population.

{d}  emphasizing high growth.

2.  The author supports policies which will help

(a) develop economic growth,

(b)  better distribution of  incomes
irrespective of rate of growth.

(e} develop economic growth  and
ridistribute sconoimic gains Lo those
getting left behind.

I {d} . put.an emphasis on the development of
the pooreat segments of society.
B-FV5-N-OCUB {4-A)
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Consider the following statements :

According to the author, India's economy has
grown but there is no room for complacency as

i. . growth eradicates poverty.

2. growth has resulted in prosperity for

all.

Which of the statements given above islare

correct ?

(a) 1ooly

() 2 only

{ed  Bothland2
(d) Neither ] nor 2

Passnge = 2

It ie eaay for the government &6 control
State-owned esmpanies through nods and
winks. S0 what really needs to be dene as a
first step ie to pot petrol pricing om a
tranaparent formula — if the price of crude
ie ¥ and the exchange rate y, then every
month  or  forteight, the government
announced A maximum price of petrol,
which anybiedy can work out from the x and
the v, The rule has to be worked out to
make the oil-marketing

companies can, in genecal, cover their

sure  that

costa. This will mean that if one company

" can innovate and cut coats, it will make

greater profite. Hence, firme will be

more prone to innovate and be efficient

one .
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kdis Wi . Otice the wle s B. Consider the following statements :

] According to the passage, private oil
anncunced, there should be no interference companies re-enter the oil producing market if
by the government. If this is done for a 1. a transparent rule-based petrol pricing
while, private companies will re-enter this EEitS.

: 2. there is no government interference in
market. And once a sufficient number of o oil Erodi ket.
them are in the fray, we can remove the 3,  subgidies are gived by the governmant.
rule-based pu"rr.'.i:lg and leave it t!"l'.l}j" to the 4 regulntim of anti-trust are removed.
market {(subject to, of course, the usual
regulations of anti-trust and  other Which ;lf the statements given above are
correct
compatition laws),
fa) land2
by Land3
4.  Consider the following statements : () Bandd
According to the passage, an oil company can ) Zandd
make greater profits, if a transparent formula
Tor pekial pricing Sy Suneumeed, evecy uringgol 6. Five persons fire bullets at a target at an
v month, by interval of 6, 7, 8 § and 12 seconds
i i 1d
N pieing T e respectively. The number of timea they fnn
fire the bullets together at the farget in an
2. undertaking innovation. hour is
(ad 6
4. cutting costs. by 7
. i . e 8
4. selling ils equity shares at higher
prices. @
Which of the statements given abave isfare | - A group of 630 children is seated in rows for a
correct 7 group photo seasion. Each row containg three
lese children than the row in front of it. Which
(a) 1only one of the following number of rowa ia not
posaible 7
(b)) Zand3d
: (a) 3
(e} Bandd b 4
e B
dl 1, 2and4 dr B
B-FVS-N-OCUB (B-A)
eca of infomation. This is not an official one. This might be useful



B-FV5-N-OCLB

www.recrultmen LHH]"H

ag i wfis @ ym woft | @ =R, W
WSl % iTd SATEEIEE WiasE FavEddl &
#in wfts 9gm ol 2w & | ow wm fam
1 HE A, 6 SR i A o e S
TEAEN T B Wik | AR FO e & fae i
# far wm, @ wEe wabEl 3w sew A
W T w1 3 99 wF A e i
T W Hoan @, @ owe fameamia
#Frma-Ffe # g vt § ol W@ Tl
Y FEn W S W oA ¢ (A e @
am ffeee (AmfEd) ffwi g e
witverd] wrE! % o e wn) |

Feafafss = o feam i .

fredy & AR, N 49 T ol st
A wm wwdl B, of i & i i
s g g3 it v@Ed oo Oifds e
=,

1. 3EE g A |

2, TETEEE] % g |

3. orEd § wdt w6

4 T i i e S fwiw e

=1

T FA T E FRAE A e

a1
2#k a
3 4
1,230 4

{al
b}
(e}
()

(T-A)

frefofirs =l @ faam Hifi

Wl ¥ R, Wee dw sefal ¥

IEUEA F WA F g7 waw S §, a2

1. w uEsl famamnim tE@m @
hiw-Friver wfeme 8

2. W T F AAA A OTOEE W RN
AT AR |

3. T g sver R wm

4 feze (Fmfid) & Rl s o
fean Tn @ |

I we A A RS TR e

@ 13m2

by 23fita

{c) 334

@ 23

ois =fis wE AE W oENN: 6, 7, 8, 9 3
12 @50 % armmoe o okt g § | we w2
% 3 v W w wny R A iR ge
@) 6

by 7

ch B
dr @

630 T F UF WYE N WS Wl o F
fim ofist § femn w1 T ofE € o
At it 7fn it g # d w= 57 @ | ofe
# frofefias gemat & 8 9 o, o
T R? .

(2} 3

(b)
el
i)

& En de



10.

B-FVS-N-OCUB

roviding piece of infomation.

www.recruitmen t.HH‘I"H

There are soven persons up on a ladder, A, B,
C, D, E F and G (not in that erderl, A is
further up than E but is lower than C, B is in
the middle. G is between A and B. E is
between B and F. if F 1a between E and D, the
peraon on the bottom step of the ladder will be
{a) 5
{h)
fe)
d}

Mmoo =

Consider that :

1. A s taller than B.

a. C is taller than A,

3. Dis taller than C.
4, E is the tallest of all.

If they are made to =it in the above crder of
their height, who will ocecupy the mid
position ? '

T(a) A

b B
) C
dy D

Consider the following statements ;
There are six villages A, B, C,. D, E and F.
Fiz 1 km to the west of I

Bis 1 km to the east of E.

Ais 2 km to the north of E,

Cis 1 km to the east of A

D= 1 km to the south of A,
Which three villages are in a line 7
a} ACB

i ADE

) CBF

i E,BI

This

11.

{8-A)

is nmot an official

Four children are sitting in a row. A is
ocoupying the seat next to B but not next to
C. If C is mot sitting next to D, who isfare
occupying seat/seats adjacent to D 7

a) B
by A
() BandA

(d) Impossible to tell

Aszsume that

1. the hour and minute hands of & clock
move witheut jerking.

2, the clock shows a time between 8 o'clock
and 8 o'clock.

3. the two hands of the clock are one above
the other.

After how many minutes (nearest integer) will
the twe hands be again lying one above the
other ?
{a) 60
by 62

{e} B85

dr &7

one. This might be useful
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Directions for the foilowing 6 (siz) items :

Read the following fwo passages and answer the
items, that follow each passage. Your answers to

these iterms showld be based on the passoges only,
Passage -1

Climate  change  poses  potentially
devastating effects on India’s agriculture, While
the overall parameters of climate change are
increasingly  aceepted — a 10 Bverage
temperature increase over ti:e next 30 years, sea
level rise of less than 10.¢m in the same period,
and  regional variations  and
corresponding droughts -r-_lt.h.e impacts in India

OIS

" are likely to be quite eite and crop specific. Some

EI"CI-]JE- may respond favourably to the changing
conditions, others may not. This emphagizes the
need to promote agricultural research and create
meximum Bexikility i the arsbém to parnidh
adaptations,

The key ingredient for “drought proofing” is
the managed recharge of aguifers. To ensure
continued yields of important staple crops (eg.
wheat), it may alse be necessary to shift the
locations where these crops are grown, in
responge to temperature changes as well as to
water availability. The latter will be a key factor
in making long tenm investment decsions.

For - example, water ruooff + from the
Himalayas is predicted to incréase over the next
30 years as glaciers melt, but then decline
substantially thereafler. Tt will be critical to

. ‘provide incentives to plan for these large-scale

ahifta in agro-ecological conditions.

B-FVE-N-OCUB

infomation. This is not

"

an official

India na;dart,u maer long hcrm:m:.r;ntment
in research and development in agritultufe.
India is likely to experience changed weather
patterns in fotare. L '

13. Consider the following statements :

Climate change may foree the shifting of

lecations of the existing crops due to
1. melting of glaciers.

2. water availability and temperﬂurﬂ
guitahility at other locations.

3.  poor productivity of crops.
4.  wider adaptability of erop plants.

‘Which of the statements given above are

correct T

(8) 1,Zand3
(b} 2and3only
ied  1and 4 only
(@) 1,2 3and4

According to the passage, why is it important
to promote agricultural research in India ?

{a] To predict variations In monsoon

patterns and to manage water resources

(b}  To make long term investment decisions
for economic growth

() To facilitate wider adaptability of crops

{d) To predict drooght condition: and to

recharge agquiférs

(10-A)
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Passage - 2

It ie essential that we mitigate the
emiazions of greenhouse gases and thue aveid
some of the worst impacts of climate change
that would trake' place in coming vears and
decades. Mitigation would require a major
ghift in the way we produce and consume
energy. A shift away from overwhelming
dependence on fossil fuels 13 now  long
overdue, but unfortunately, technological
development has been slow and inadequate
largely because government policies have not
promoted investments in research and
development, myopically as a result of
relatively low prices of oil. It is now,
therefore, imperative for a country like India
treating the opportundity of hamessing
renewable energy on a large scale as a
naticnal  imperative, Thiz  country s
extremely well endowed with solar, wind and
biomass sources of energy. Where we have
lagged, unfortunataly, is in our ability te
develop and to create technological solutions
for harnessing these resources.

Chne particular trajectory for carrying oot
atringent mitigation of greenhouse gns
emissions agssessed by the Intergovernmental
Panel on Climate Change (IPCC) clearly
ghows the need for ensuring that global

emissions of greenhouse gases peak no later

cost asecciated with such a trajectory is truly
modest and wonld amount, in the estimation
of IPCC, to not more than 3 percemt of the
global GDF in 2030. In other words, the level
of prosperity that the world wonld have
reached without mitigation would at worst be
postponed by & few months or a year at the
most, -This is clearly not a very high price to
pay for protecting hundreds of millions of
people from the worst risks associated with
climate change. Any such effort, however,
would  require  lifestvles  to  change
appropriately also. Mitigation of greenhouse
gas emisgions is mot a mere technological fix,
and clearly requires changes in lifestyles and
transformation of a country’s  economic
structure, whereby effective redochion in
emissions is brought about, such as through
the consumption of much lower quantities of
animal protein, The Food and Agriculture
Organization (FAO) haz determined that the
emissions from the livestock sector amount to
15 percent of the total. The reduction of
emissions from"this sonrce is entirely in the
handa of human beings, who have never
questioned the impacts that their dietary
habits of consuming more and more animal
protein are bringing about. Mitigatien averall
has huge eco-benefits, such as lower air
pollution and health henefits, higher energy

security and greater employment.
than 2015 and reduce rapidly thereafter. The
B-FVE-N-OCUB (12-A)
eca of infomation. This is not an official one. This might be useful
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16. According to the passage, which of the

following would help in the mitigation of
greenhouse gases 7

| Reducing the consumption of meat
2 R:_lpid economic liberalization

3. Reducing the consumerism
practices

4. Modern ~ management of

Iii'eatur!:k

Belect the correct answer using the code given
below :

{a) 1, Z2and3
) 2 3and4
(&) 1and3enly
(4} 2and 4 only

16. Why do we continue to depend on the fossil
fuels heavily 7
1.  Inadequate technological development
2 Insdequate funds for research and
development
3.  Inadequate _availability of alternative
sources of energy
Select the correct answer vaing the code given
below :
(a) 1only
) 2und 3 only
{e)  Tand3enly
{d} 1,2and3
B-Fv5-N-OCUB

ai

of infomation. This

17.

18,

(14-A)

is not an official

&ocnrding_ to the pusaag:é, _huw does the
matigation ncfgrm]_:m pRses help us ¢
L. Reduces experditure on public health

2 Reduces dependence on livestock

3.  Reduces encrgy réquirementa

4. Reduces rate of global climate change
Select the cirrect answer using the code given
below : : ) ‘
(a) 1,2and3

(b} 1,3and4

fe} 2,%and4

(d} 1and4only

What - ia the. essential message of the

passage ?

{a} We continue Eo. depend on fossil fuels
heavily 5

(b} Mlhgnm‘n of the greenhousze goses is

" imperative

.
We must invest in research and

development
People must change their lifestyle

]

(d)

There are 50 students admitted to o pursery
clags. Some students ean speak only English
and some can speak only Hindi. 10 students
can speak both English and Hindi If the
numbér of students who can speak English is
21, then how many students ean speak Hindi,
how many can speak only Hindi and how

many can speak only English 7
(a} 21,11 and 24 respectively -
(b) 28,15 and 22 réspectively
(e} 87,27 and 12 respectively
(d) 39, 29°and 11 respectively

one .



www.recruitment.guru

15, whesy ¥ awEm, Fefafer & & wRa

16.

B-FVS-N-0CUB

fiRerm 6 % 7 #1 T A EEEs
2 .

1. ol & andm § wft we

3. g il R

‘3. FTdrEER W wen

4. TR R oy s v

#t o g W v = E g
(a) 1,233

(b) 2,3#4

© FEmaisms

d) e gaig

m e o w o fek ow W@
g7

2, wA s Bem ¥ fm swiw
faftwt
2 wd % defw W A s

L S L)

% fa T 2w wEm I g
(@) 1

®) a2k 3

() Ee 1 a

@ 1.23%3'

(15

i7.

18.

18

=A)

ooz % argem, g Ad-d B0 qw
wan fom fem o mees £ 7

1. TR i T W e 8

. Tl T w BRIGH TE

3. e wf sravaad vt §

4, o wpizei SwAvy vfEd i woed @
A fi o 2 1 v = EE I A
1,233

1..33‘1?4}

2,390 4
a1 e

(@
(b
{c)
i

7 oftsds = Fgw a7

{a) B witamm dudi @ wefes e
by Hftaeres el w aEn s B
i©) w0 wgEur o faem § FEw s @
- TR

) il B g Fremdeh s 8 =i

e T wen A so FRrenfiE = w@w By wn
Fo el e i 9w 990 8 ok g
Ham ) 5 wed & | 10 Rt ofih ol
fidt 6 d= mwa £ 1 9k = Rl &
T, W el 9w = F 21 R, @ fe
i et A wea #, Feae em Rt A
T # o i e iR A TR 0
(a) 99 21, 11 ¥ 29

(b) TAW: 28, 183w 22

{c) s 87,27 o 13

@ w39, 20 3 11



roviding pi

www.recrultmen LH'MII"H 3

0. A g,ardm increaged the area of his

1.

B-FWS-N-OCUS

ai

rectangular garden by increasing its length by
4060 and decreasing its width by 20%. The
arr.a_of the new garden

ia)
bl
]
fd)

has increased by 20%.
has inereased by 19%,
has increased by 8%. )
i exnctly the same az the old area.

Bix books are labelled A, B, C, D, E and F and
are placed side by side. Books B, C, E and F
have green covers while others have yellow
covers. Hoolks A, B and D are new while the
rest are old volumes. Books A, B and C are
law reports while the rest are medieal
extracts. Which two books are old medical
extracts and have green covers 7

{(al BoandC
it) EandF
{eh
{d)

Cand E
Cand F

A straight line segment is 36 cm long. Points
are to be marked on the line from both the
end points. From each end, the first point iz at
& distance of 1 em from the end, the second
point is at a distance of 2 ¢m from the first
point and the third point is at a distance of
3 em from the second point and so on. If the
points on the ends are not counted and the
common points are counted as one, what is
the number of ponts ?

{a)
(b}
re)
[dy

10
12
14
16

of infomation. This

3.

[16-A)

is not an official

If Sohan, while selling two goats at the same
price, makes a profit of 10% on one gost and

“suffers a loss of 10% on the other

{a}l  he makes no profit and no loss,
(b]  he makes a profit of 1%,
(e}  he suffers a loss of 1%.

{d} e suffers a losa of 2%.

Out of & total of 120 musicians in a club, 5%
can play all the three imstruments, guitar,
violin and fute. It so happens that the
mumber of mugicians who can play any two
and only two of the above instruments is 80.
The number of musicians who can play the
guitar alone 1s 40. What is the total number of
those who ean play violin alone or flute
alone 7

{al 4b

b} 44

(c) 38

d) 30

Six identical cards are placed on a table. Each
card has number ‘1" marked on one side and
number ‘Y marked on its other side. All the
aix cards are placed in such a manner that the
number ‘1" iz on the upper gide. In one try,
exactly four (neither more nor less) carde are
turned upside down. In how many least
number of tries can the cards be turned
upaide down such that all the six cards show

number ‘2" on the upper side 7
ia) 3
B) 5

R [ )

{d} . Thiz cannot be achieved

one .
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Directions for the following 8 (eight) items :

Read the following two passages end answer the
itema that follow each passage. Your answers o
these items should be based on the passages only.

Passage — 1

The Himalayan ecosystern is highly valnerable
to damage, both doe to geological reasons and on
account of the stress caused by increased pressure
of population, exploitation of nateral resourcea’ and
other related chellenges. These aspects may he
exacerbated due to the impact of climate change. It
is possible that climate change may adversely
impact the Himalayan ecosystem through increased
temperature, altered precipitation patierns,
episndes of drought and biotic infloences. This
would not only impact the very sustenance of the
indigenous communities in uplands but also the Tife
of downstream dwellers acroes the country and
bevond, Theréfore, there i3 an urgent need for
giving special attention to sustam the Himalayan
ecosvatem. This would require conscious efforts for
conserving all the representative systems.

Towards achieving the above, we will have to
ghift toward contemporary conservation
approaches, which include a paradigm of landscape
level interconnectivily between protected area
aystems, The concept advocates a shift from the

species-habitat forus te an inclusive focus on

expanding the ogeographic range ao that nataral
adjustments to climate change can procesd without
being restrictive,

28. Consider the following statements :

According to the passage, the adverse impact
of elimate change on an eeosyetem can be a

1. permsnent disappearance of some of its
flora and fauna.

2. permanent disappearance of ecosystem

itself,
Which of the statements given above isfare
correct ?
{a) 1only
(bi  Zonly
{e} Both 1and2
(dy MNeither 1 nor 2

Further, it needs to be emphasized that the 27, Which one of the following statements best
endemics with restricted distribution, and most implies the need to shift toward contemporary
often with specilized hahitat requirements, are conservation approach 7
among the most vulnerable elements. In this (a) Exploitation of nml TREMITEES CRIAES
regpect the Himalayan bisdiversity hotapot, with a stress on the Himalayan ecosystem.

irh endemic d i i walsseahle climata (b} Climate change alters precipitation
o vers_rl;_-,r, N . s g una_ patterns, causes episodes of drought
chanpge. The threats include possible loss of genetic and hiotic intecference.
resources and species, habitats and concomitantly a ) ‘Therich biodiversity, induding endesic
detrease in ecosystem  services. Therefore, diversity, makes the Himalayan region
conservation of endemic elements in representative & biodiversity hotapot,
eeosyetemahabitats pssumes a great significance fdy The Himalavan biogeographic regm
whtile drawing conservation plans for the region. g““"’ be “‘““fd to adapt to climate
B-FYS-N-OCLB {(18-A)
of infomation. This is not an official one. This might be useful
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28. What is the most importamt message
conveyed by the passage ¥

{a) Endemism ia 8 characteristic fenture of
Himalayan region.

Conservation efforts should emphasize
on biogeographic ranges rather than on
some species or habitata.

(&) Climate change has adverse impact on
the Himalayan ecosystem.

Without Himalayan ecoayatem, the life
of the communitics of uplands and
downetreams will have ne sustenance,

(bl

(d)

29, With reference to the pessage, the following
asaumptions have been made :
1. To maintein npatural ecosystems,
exploitation of natural resources should
b completely avoided. .
2. Mot only anthropogenie but alse natural
reasona can adversely affect ecoaysterns.
3. Loss of endemic diversity leads to the
extinction of ecosvatems,
Which of the above =sssumptiona isfare
correct ¥
(a) 1and2
(b} ‘Zonly
(e} Z2and3d
d)  3only
Passage - 2
It iz often forgotten that globalization iz not
only about policies oo international economic

relationships and transactions, but has equally to
do with domestic policies of a nation. Policy changes
necessitated by meeting the internationally set
conditione (hy WTO ete) of free trade and
investment flows obviously affect domestio

underlying globalization emphasizes  absolute
freedom to markets to determine prices =nd
production and distribution patterns, and wview
government interventions ad processes that create
distortions and bring in inefficiency. Thus, public
enterprises to be privatized throogh
diginvestments and gales; sectors and netivities
hithérto reserved for the public sector have to be
opened to the private sector. This logic extends to
the social services like education and health. Any
restrictions on the adjustments in worlkforce by way
of retrenchment of workers should alao be removed
and exit should be made easier by removing any
restrictions on closures. Employment and wages
should be governed by free play of market forces, as
any measure to regulate them can discourage
investment and also  create  inefficiency  in
production. Above all, in line with the overall
philosophy of reduction in the role of the State,
figeal reforms should be undertsken to have
generally low levels of taxation and government
-Ea'pend.iture should be kept to the mimimum to
abide by the principle of fiscal prudence. All these
are policy actiong on the domestic front and are not
directly related to the core items of the globalization
agenda, namely free mternational flow of goods and
finanes,

have

30. According to the passage, under the
globalization, government interventions are
vigwed as processes leading to
(a) distortions

ECOTOTMY.

and mefficency in  the
(b}
e}  more profitability to industries,

{dl  free play of market forces with regard to

optimum vee of resources,

producers and investora. But the basic philosophy induatries, J
B-FVS-N-OCUB (20=-A)
of infomation This is not an official one. This might be useful
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31.  According to the passage, the basic phﬂmnphy Directions for the following 4 (four) items:
of globalization is to The following graph shows the average profit of two
“(a) -give absolute freedom to producers to | fruit-sellers A and Brin thousands (T) per year from
: . determine prices and production. the year 1995 to 2000, Consider the groph and
nswer the 4 items that follow ;
{b) give freedom to producers to. evelve “ .,:, Dhsict s ol
distribution patterns. ; : "
(¢} give sbsolute freedom to markets to T 8
determine  prices, production and & -
employment, . =B
id) - give freedom to producers to import and | -
export. 4
|
g 3
82, According to the passage, which of the | ' -
following is'sre neceesary for ensuring E 1
globalization ? ’ E
; ivatizati lic enterprises 0 > X
; Em“m“ d pub :““ . 1995 1996 1997 1998 1999 2000
; ansionary po 1:.'5.' o public”
+ expenditure » : Year ’
3. Free play of market forces to determine | 34. In whnda year is the average profit of A and B
wages and employment same 7
4. Privatization gf g-uclal services like {a} 1885
education and health (b} 1084
Select the correct answer uasing the code given (c) 1947
helow Wy 1698
(al 1enly ; - — " i
6. at is ifference between Average
k) Fanid 3 onice T : profit of B and A in the year 1998 7
e} 1,3 andd (a) —%100
dy 2,3 and 4 B - 1,000
{ch  + % GOD
; ; () — 300
au.ﬂ. Amun?ingl to the passage, in the process of 36, How much more average profit did A make in
globalization the State should have . the year 2000 than in the year 1999 7
{a) expanding role. al F 200
(b)  reducing role. (b} 7 1,000
(c]  statutory role. (b & 1,500
(d} none of the above roles. 2,000
B-FWS-N-OCUB {22 i Al
piece of infomation. This is not an official one. This might be useful
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37. 'What is the trend of the average profit of B | 40. Consider the following matrix -
from the year 1997 to the year 2000 ?

(a) MNon-increasing T T T l l T
(b} Non-decreasing
(e} Steady

()  Fluctuating ' t j l l l

Which one of the following figures fits into the
88. The following table shows the marks obtained blank part of the above matrix ?

st o e

by two students in different subjects ;
: ; z (al T‘_‘
Student | Maximum | Student |Maximuom
A Marks B Marks

English 60 100 a0 160
Paychology | 70 100 70 | 100 &) T T
History &0 100 ‘60 100
Sanskrit an &0 16 256
ans e T l

The difference in the mean aggregate

percentage marks of the students is

(@) 25% @ | |1

(b} 13-75% '

(e} 1.25-;'5 41. The following iable gives population and total

income of a city for four years :
(dy  Zero i
‘AT 1952 | 1853 | 1994 | 1905
Population
38. Examine the following figure ; in lakhs 20 21 22 | 23
Income
Z o ores ey | 1010 | 1111 | 1225 [ 1345
Which ¢ne of the following statements is

correct in respect of the above data 7

Which one of the following Ggures has the (a} Popuolation incressed by 5% or more
above figure embedded init 7 - BVEFY Year.
(b}  Income increased by 10% or more every
0% x| X >
; {e}  Per capita income was always above
5,000,
(a) (ly (e (d¥

(d} - Per capita income was highest in 1994,

B-FVS-N-OCUB : (24-A)

roviding piece of infomation. This is not an official one. This might be useful for
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g7, =% 1997 § T4 2000 7F, B ¥ sitm @ &1 |40, = Boow g w fEn S

e TN
(b ST |t |—
() il

id) e : Tl \H,

i B sot ARt e e x| E D Rt 18 W v AT,

: : : st fom My s & few s H dnd s
Form fiym el Rt are we W (Frz) 27

=13 A | sifipemm| B B | s

i ¥iF @ T__,

Ei )| &0 w0 | &0 150
WHifdEE 70 100 70 100 i TT
TaEm 50 wo | &0 100
A | 30 50 | 16 25

o & e By wRwE siE A e sm i Ti

2 _
{a) 2:5% (d) lT
(b} 1375% : i -]
e} 146% 41, Befafar awft § w ome f owwoad f@
) A " mﬁﬁm!@ﬁ
Eid 1902) 1995 | 1994 1985
an. e & mf smEf W alwn Hi . ey, wrEt A | 20 | 21 | 22 | 23 |
& im,iﬂ‘#ﬁrﬁ 1010 1111 | 1226| 1345
}/ 2ot afesl & e A Frefifin § @ wRom
% A né e 4 B fea o sl d el
T Bl (ay FeEm # vl ad sm o wftw
& i s i R o ' 3i ¥
(by = # sfi wd 10m w afiw glg w0
%} X ﬁ E (¢}l =R g AW T 5,000 8 sfus of
: B
(a) (b (e} (d) oy uf =l w1994 1 waifies o
B-FVS-N-OCUB {25-A)

roviding piece of infomation. This is not an official one. This might be useful for y
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42, Consider the tsble given below in which the | 44, With reference to the figure given below, the

numbers bear certain relationship among number of differsnt routes from 5 to T
themselves along the rows - without retracing from U andfor V, is
29 | 13 | 18
83 X 19 8 T
a0 | 29 3
Which one of the following numbers is the fa) 3
misging number indicated above by X 7 b} &
(a} 19 ik 9
(b} 15 dy .18
(e} 14
d 8

45. Consider the following figures :

43. Consider the following matrix with one empty ﬁ I:i g I m ?
 —— bleck in the lower extreme corner :

00000000

o A Change in positions of beads in the four
fipures sbove follows a sequence. Following

A A A A AA LA the same sequence, which of the figures below

OO0 o0 O O should sppear as the fifth Ggure above 7

% A A LA A (@)

OO O

Which of the following figures could fit in the
empty block and thus eoraplete the matrix 7

o » |{O0COj|lOCO

AL FAlra% Fa Fa i Fa {d

| S

A 'ﬂﬂm
33

3

| ' fa) (b) (e} ()

B-FVS-N-OCUB L (26-A)

roviding piece of infomation. This is not an official one. This might be useful



www.recrultmen LHH]"H

42, J @ nd wmeil w e S, el b

dfret-& wre w1 e g T
90 | 13 | 18
¥ | 18
27 | 3

ﬁnﬁaﬁaﬁmmmm,mﬂmm
ﬁﬁﬂi@ﬁiﬁﬂni 7

{a) 19

) 15

() 14

id) 8

it fam mo fres snfiEht w6 o B e

et seqe T fyem fam

O Qo0 0 on0
o &
Fagrat Hoh AlA A A
o000 |O
Fa Farsy P aggran
oo |0

&

frafofer # & waah R e o A

g B wd ® e g o @ a2
o OO0 Qo0 O
FARFLN PR fa Fay W as
(a) (k) () (d}
B-FVS-N-OCUB
ca of infomation. This 5 a}

40.

(27-A)

(a) 8
b 6
e} 9
dy 18

Freifem anplirdt w faam difi

$3012330

Fw sifa 9w aefdl # wei f el e
FIFR F FIEN wEed B FH FEm0 W
e wW g, Feifer a8 &
#A T, FW E v s % e b o
=nfgm ?

la)

(b}

fcd

(d}

ofedodo i)
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46. A bell ringa every 18 minutes. A second bell | 48, As per agreement with a bank, a husinessman
rings every 24 minutes. A third bell rings had to refund a loam in some equal
every 32 minutes. If all the three bells ring at instalments without intercst. After paving
the same time &t 8 o'clock in the morning, at 18 ingtalments he found that 60 percent of his
what other time will they all ring together ¢ loan was refunded. How many instalments
(@) 12: 40hrs wete there in the agreement 7
(o) 1248 hra (a) 22
e}  12:56hra by 24
(d)  13:04 hrs e} 30

d)y 33

47. “Price is not the same thing as value. Suppose
that on a day the price of everything wiz., coal,
bread, postage stamps, s day's labour, the ' ) )
rent of houses, ete. were to double. Prices then i :i:nrkm- - I.m fiipkoey B misklieq dabe .1r
would certainly riss, but values of all things apeed irom his house fo the factury s
i i 5 kmvhr. If he walks at a speed of 6 km/hr,
= o e i i o then he reaches the factory 7 minutes early.

e writer wan say prices : i ;
hicign wers doabisi Thi distance of the factory from his house is
{a} the values of all things would remain (@) $km

conatant, (b} 4km
(b}  the values of the things sold would be (el &Skm
doubled. @ 6km
{c)  the values of the things bought would be
halved,
(d) the value of money only would be
halved. :
31. ‘“Liberty, therefore, iz never real unless the
Government can be ealled to aceount when it

48. A and B decide to travel from place X to place invades righta.”
¥ by bus, A has ¥ 10 with him and he finds Which one of the following is the beat
that it is 80% of the bus fare for two persons. Jjustification of the above statement 7
B finde that he has ¥ 3 with hi

a TRERSSSOMIE I o i 1 (a) In the realisation that the government
over to A, In this context, which one of the can be brought to book in a court of law
following statements is correct 7

i (b} In identifying a man a8 8 political onit
{a) Mow the money A has is just enough to ; 5 T 5
buy two tickets, in a way which distinguiahes him from
other citizens
i) Astill needs T 2 for buying the tickets,
: ; : (¢} In a decentralized society wherein the
{c)  After buying llhe two tickets & will be basic needs of men can fiad satisfaction
left with 50 paise.
{d) The money A now has is astill not (d) In the understanding that liberty and
gufficient to buy two tickets. reatraints are complementary
B-FVS-N-OCUB {28-A)
piece of infomation This is not an official one. This might be useful



48,

47.

www.recrultmen LHH]"H

o 58 W 18 e el @ ) u gl 9d
woodfire woaadt 8w dEl @t w
32 fime o el @ 1 ol o o ofdet o
v § gEE & 3 T A, 9 o e am w
2 moft = Ty T e

{a) 12:40%

(b) 12: 48

(g 126693

(dy 13047

Frm e fr i A gt o owmA

il R w0 ~fiw SR, S, O, o R,

o o7 W wm, wEl w e, a6
B W § | ow S B ey 8w,
T W OBEE A % e T

=3 "

S e WA A o i )

T B Wt

ey R e R

o)

B-FVS-N-OCUB

o) bt w <l % e gt g d
(¢) wid 7 = % uew W # an |
(d} a1 S AT A |

Al BEE g0 TR X9 E Y AE 90 A
Frased) Avmwmewisnzam
el & o o2 o < =afat & fom am fem
FE0RR | B wm v o3 faed £ fr A a
AR ym aed A, fofafem oA
FE U A TR 7

(@) AT gW He S A R, 9= UE O el
FRmdtwmg

AT et wifte & B v g ol afim

G smatwaoty
T |

A% T wE S o B, oww and o &
e El s Rnam i)

(k)

(e}

(289-A)

61,

49, T 4% 4 e g ausid % s, T =

® w WO Fo Tam fhw 4 fam e
wrlt ot 1 18 e T % W v B
e 60 ST T 9 T | 5l % sTEw
Tt forerd off 2

()
(o)
(e
d)

2 2E2EB

w1 sfirs oW W & St 7= 5 fRafl oh
g2 1 nfy A S wod Sweh 4 g e
foerm @ wham B | Al @y o R wR T K
fa & = #, @ ag Seeh 7 fme o v
pibhd e mAi g d o :
(w4 feaf,
b 4 R
@ & R

) 6 fR,

T TS W aRATaE A A f 9 T
RN W, FEE g Al T AR % T,
U T8 5w [

T FR W i offem Feffe § @
Eock: BB

ta) T3 # f wmem § wer @ wdem
wim =

(b) TH U H TS EE S W A W
wEn TEEEE § T G amm it @
fafie 2 9

(& T R w8 o e 6 e
sarrEmat & g 8

) o oo H 6 ww o owfinl wew
g §
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Dﬂutﬁgsﬁr the following 7 (seven) items ; 52. The apologista of the “Free Market Syatem”™,
Read the following fwo passages and answer the according Lo the passage, believe in
itema that follow each paossage. Your arswerzs lo ;
t without 1 government
these items should be based on the passages ondy. @ marke j W oanteol. by
authorities.
Passage = 1 »
(b) market without protection by the
Many nations now place their faith in government.
itali and te it the
strategy to create wealth for their people. The
spectacular econemic growth seen in Brazil, (d}  market for free goods and services.
China and India after the liberalisation of their
economies is proof of its enormous potential and
succasd. However, the global banking crizis and | 53. With veference to “ideclogical bias”, the
the economic recession have leftl many passage implies that
bewildered. The debates tend to focus on free {a) free market is fair but not competent.
market operations and forces, their efficiency ' -
and their ahility for salf correction. Insuss of () free market is ot fair but competent.
justice, integrity and honesty are warely it} free market is fair and competant.
laborated to highlight the failure of the global -
eraboT® i T 6l {d)  free market is neither fair nor biased.
banking avatem, The apologists of the svsbem
continue to justify the succees of capitalism and ©
argue that the recent erisis was a blip. . + ; 2
§4. “The exercige of private greed will be in the
Their arguments betray an ideological bias larger public interest” from the passage
with the asssumptions that an woregulated 1. refers to the false ideology of capitalism.
market i fair and competent, and that the 2 underlies the righteous claims of the
exercige of private greed will be in the larger free market.
public interest. 3. shows the benevolent face of capitalism.
Few recognize the bidirectional relationship 4.  ignores resultant gross inequity.
between capitaliam and greed; that each
; Which of the statements given above isfare
reinforces the other., Surely, a more bhonest R
conceptualisation of the conflicts of interest
) among the rich and powerful players wha have fa) Lomly
benefited from the ayvatem, their hiases and b} 2and3
ideology ie needed; the focus on the wealth
S g fe}  land4
creation should also highlight the resultant gross
inequity. idd  4only
B-FVS-N-OCUB (30—A)
piece of infomation This is not an official one. This might be useful
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